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for this method to workproperly
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let 4h be a set of 1cmvectors
where Xo is a known initial
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we'll foldinto the Gi's tle coefficients
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Implementation

Write an iterativeprocess however

we need to becareful tokeep the
iterates balanced inmagnitude
One sway to dothus is to take
ratios of what let's formally

rewrite A as
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a norm
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which forus abounded sequence

InversePower Method
ShiftedPower Method

Power Method can beused to find
smallest eigenvalue

l ini Is l iii ik I iii I Hi to
be knowthat if I B ou e'value

of B and A is nonsingular then
is ou e'value of A

So power methodcould

be formulated so that

He ADkXo
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to dm
We don't know or can notsafely

compute A 1 so we introduce

a SHIFT

The trick is to propose
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Then do Power method
on
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Solong as µ is reasonableguess
the iterationprocess will yield
im Gm


